INDEX TO EXHIBITORS

Section 10—AGRICULTURE

Barker, E. J. H., Walbundrie, N.S.W. Beck, J. A., Lochiel, Harefield, N.S.W.

Bolger, E. A., and D. Ticehurst, Warranoy, Wallendbeen, N.S.W.

Brown, J. T. and R. D., Yarren Clump, Narrabri,

Brown, S. R. and A. E., Bramble, Mendooran, N.S.W.

Bruce, J. E., Glenala, Wongarbon, N.S.W. Buckie Pastoral Co., and C. May, Buckie, Croppa Creek, N.S.W. Buttsworth, W. C., Wilberforce, N.S.W.

CAMERON, A. A., P.O. Box 4, Harwood Island, N.S.W.

Cameron, D. F., Abington, Tambar Springs, N.S.W.

Central N.S.W. District Exhibit, c o. S. R. Lattimore, P.O. Box 180, Taree, N.S.W. Christie Bros., Llandudno, Boggabri, N.S.W Cole Bros., Lochneath, Lochiel, Pambula, N.S.W. Cronk, V. F. and F. A., Boree Creek, N.S.W.

DIEKMAN, F. G., 49 Lofberg-rd., Pymble, N.S.W. Dohnt and Son, Bonnic Doon, Eumungerie, N.S.W.

EMERY, B., Wogomia House, Nowra, N.S.W.

Cullen, J., P.O. Box 2, Emmaville, N.S.W.

HAYNE, V., Guest-st., Narrabri, N.S.W. Heinrich, A. A., R.M.B. 543, Narraburra, Temora, N.S.W.

Henley, T. E., Jandera, Cowra, N.S.W.

JOHNSON, C. R., Buckinbah, Yeoval, N.S.W. Johnson, R. R., and Son, Umaria, Grenfell, N.S.W.

Jones, C. S. and G. B., Bevala, Mendooran, N.S.W.

KEMP, P. E., Wittitrin, Kempsey, N.S.W.

LAVIS, G. A., Bodalla, N.S.W. Lavis, N. J., Rewlee, Bodalla, N.S.W. Lavis, R. J., Rewlee, Bodalla, N.S.W. Louttit, A., Campbell-st., Moruya, N.S.W.

Q'ld.

McCLELLAND, J. J., Shoalhaven-st., Kiama,

McDonald, N., Ulva, Mulwala, N.S.W. McGowan, V. B., Linfield, Winton, Duri, N.S.W. McGrath, S. J., P.O. Box 24, Nowra, N.S.W. McGrath, T. H., P.O. Box 24, Nowra, N.S.W. May, J. R., Limekilns, Bathurst, N.S.W. Milliner, K. E., 44 Grove-av., Penshurst, N.S.W. Moreton and Downs District Exhibit, Q'ld, c/o. B. Haag, Teviotville, Fassifern Line,

BALCOMB, H. N. and U. J., Tekoona, Toogong, NELSON, A. C., Private Mail Bag, Kempsey, N.S.W.

> Northern N.S.W. District Exhibit, P.O. Box 109, Lismore, N.SW.

PEACOCK, R., 21 Carbine-st., Kerang, Vic. Penfold, R., Talgot-st., Quandialla N.S.W. Pfitzner, G. C., and Son, Goolgowi, N.S.W. Pickering, R. J., Wha-Ree, Quirindi, N.S.W.

RITTER, C. G., Bowman Farm, Gloucester, N.S.W.

Roberts, E. E., and S. Amey, Oakwood, Dubbo, N.S.W.

Rodway Bros., Koreela Park, Temora, N.S.W. Rowlings, R. Dangarsleigh, Armidale, N.S.W.

SAUL, W. T., P.O. Box 260, Bellimbopinni, Macleay River, N.S.W.

Scattergood, A. H., 3 Gerald-st., Queanbeyan, N.S.W.

Seabrook, W. D., Fernbrook Apiaries, Limekilns, Bathurst, N.S.W.

Sharp, L. J., Kelvin Grove, Eumungerie, N.S.W. Simpson, F. J., R.M.B. 123, Alectown Mail, Coobang, Parkes, N.S.W.

Smart, L., Cawdor, Camden, N.S.W. Smart, L. C. W., Silverwood, Werombi-rd.,

Camden, N.S.W. Southern N.S.W. District Exhibit, P.O. Box 14,

Tumbarumba, N.S.W. Stitt, L. M., 22 York-st., Taree, N.S.W. Stitt, R. A., Wingham-rd., Taree, N.S.W.

Suffolk, J. A., Lebanon, Tomerong, Nowra, N.S.W.

TOMKINS, H. H., C. M., and W.B., P.O. Box 94, Mudgee, N.S.W.

Tonkin, E. A., Kirewa, North Star, N.S.W. Tonkin, W. E., Myee, Pallamallawa. N.S.W. Townsend, S., 24 Jarrett-st., Campsie, N.S.W. Troy, V. W. R., R.M.B. 121, Quandialla, N.S.W.

VEITCH, G. E., Mount-st., South Gundagai, N.S.W.

WALL, J. W., Stoney Creek, Narrabri, N.S.W. Ward, B. T., Flemington, Tullamore, N.S.W.

Watt, N., Strathisla, Trundle, N.S.W. Western N.S.W District Exhibit, c/o. K. P. Trevitt. Avonlea, Yetholme, N.S.W.

White, J., Day-st., Wyoming, Gosford, N.S.W. Wilby, C. F. and C. M., 22 Auburn-st., Moree, N.S.W.

Wilgian Queen Apiaries, Stanborough, Inverell, N.S.W.

Wilson, J. T., Mingelo Park, Trewilga, N.S.W. Worboys. B. C. and L. G., Stoneleigh, Gunnedah,

Section 11—DAIRY PRODUCE

BUTTER, DRIED MILK, CHEESE, HAMS, BACON, AND LARD.

Committee :

F. A. McIntosh

E. A. Southee

Stewards:

E. H. Headley

J. W. Keevers

A. B. Shelton

F. Wilkinson

J. Williamson

H. Perrott

C. R. Buttsworth

J. R. Graham (Chairman) W. A. Chaffey, M.L.A. P. Charley

R. J. F. Downes R. Watson Hewett Lt-Col. T. E. Irwin Steward in-Chief : J. R. Graham Anniatant Steward in-Chief : E. A. Southee General Steward: A. Walker

BUTTER.

Judges:

(Local Consumption): J. T. Dickson,

Department of Agriculture, N.S.W., Sydney.

(Export Butter): R. C. Hottes.

Department of Commerce and Agriculture, Margaret st., Sydney.

J. McGahev.

Department of Commerce and Agriculture. Margaret-st., Sydney.

(Royal Export) S. Trainor.

Department of Agriculture and Commerce,

JUDGING DAY.

Unless otherwise stated the judging of Dairy Produce exhibits will commence at 9 a.m., Thursday, 22nd March,

PAVILION OPEN TO PUBLIC.

The Dairy Produce Pavilion will be open to the public daily from 9 a.m. to 10 p.m., except Good Friday, 30th March, on which

TROPHIES ON DISPLAY.

Trophies offered for competition in the Dairy Produce Section shall be on display in the special windows provided for the purpose in the Society's General Showground Office.

SPECIAL DAIRY PRODUCE REGULATIONS.

Exhibitors are reminded that the Society's General Regulations apply to all sections of the Show and that the Special Regulations hereunder set out which apply to this section only are merely supplementary to the General

Only one entry may be made by each factory or branch factory in each class,

Butter in all classes to be made from pasteurised cream and no preservative other than sait to be added.

All butter exhibited may be subject to analysis.

Butter, other than that in cold storage, must be in position by 9 p.m., Wednesday, 21st March.

BOXES.

All butter specially manufactured and prepared for exhibition purposes, must be packed in PLAIN STANDARD LOCAL BOXES (BRANDED BOXES NOT PERMITTED).

All exhibits for Classes 2 to 8 to be addressed to the Director, Royal Agricultural Society of N.S.W., e/o. Waterside Cold Stores Pty., Ltd., 10 Point-st., Pyrmont, Sydney, and must be in cold store as stated in each class.

Exhibitors failing to observe this Regulation are liable to disqualification.

For purposes of identification a label, bearing the full name of the exhibitor (Factory) together with full particulars of the class for which the exhibit is intended, must be securely affixed to the lid of each box before it is wrapped in its protecting cover.

The surface of the butter must be impressed with the Australian Roller Brand.

An exhibitor who may desire to go through the exhibits with the judge, after judging day, shall make an appointment through the Steward-in-Chief or the Director.

COLES STORES SERVING AUSTRALIA

11-2

-Out - Marie Carlotte

Sec. 11-DAIRY PRODUCE-Butter (Continued)

Arrival and Departure of Exhibits.

Butter for classes as hereunder mentioned must be addressed to the Director, Royal Agricultural Society of N.S.W., c/o. Waterside Cold Stores Pty., Ltd., 10 Point-st., Pyrmont, Sydney, and be delivered not later than the dates shown, viz. :—

Class 2—Thesday, 27th December.

Class 3 and 4—MONDAY, 12th DECEMBER.

Class 5—Theoday, 17th January.

Class 8—Monday, 12st March.

Class .— Tuesday. 17th January.
Delivery of butter will be made not later than 5 p.m. on Wednesday, 4th April.

A delivery order from the factory is required when

collection is being made by an agent. Storage of Export Butter.

All exhibits for storage will be placed in cool chamber and kept at a temperature not exceeding 20 degrees. The exhibits will be removed from Cold Store to Showground after judging.

Unclaimed Exhibits.

All exhibits unclaimed on Wednesday, 4th April, will be sent to an agent and sold; the proceeds, less expenses, will be forwarded

SCALE OF POINTS FOR JUDGING BUTTER.

FLAVOUR AND AROMA: Should be clean and mild TEXTURE: Includes body, grain and moisture incorporation CONDITION: Includes salting, colour, packing and finish		50 30 20
TOTA	\L	100

MOST SUCCESSFUL EXHIBITOR PRIZES.

(Dried Milk, Cheese, and Bacon Curer).

The most successful exhibitor prizes in this Section shall be determined as follows viz. —Only exhibitor with three or more exhibits shall be considered for this prize. The total number of points awarded to each exhibit by the Judge shall be divided by the total number of entries made by the exhibitor and to the result obtained shall be added the following points, viz.:—Three for each first prize, two for second, and one for third—the exhibitor gaining the highest result shall be the winner. Should two or more exhibitors gain an equal number of points, the Most Successful Exhibitor Prize will be awarded to the exhibitor gaining the greatest number of first prizes. Should the points still be equal the number of second prizes, and if necessary the number of third prizes will be taken into account in determining the prize. In the case of a maker (Dried Milk, Cheese, and or Bacon Curer) who exhibits in the names of two or more factories, each factory will be regarded as a separate and distinct exhibitor.

CLASS 1 CONTINUOUS GRADING CLASS FOR BUTTER (LOCAL CONSUMPTION) Special Prizes, £40, viz. + First, £20; second, £12 10s.; third, £5: fourth, £2 10s. £5 or a cup or trophy will be presented to the respective butter-makers of the factories securing the first, second, third and fourth prizes. The factories shall nominate, on the certificate of entry, the recipients (butter-makers) of the cups or trophies.

A Bronze Medal will be awarded each factory gaining a box average of 93.5 per cent over the period of competition, provided that for any one month the average grading of the factory shall not be under choicest grade of 93 points.

CONDITIONS.

- 1. The competition is for salted or unsalted butter sold on the local market in N.S.W.
- 2. The Grading Period will cover seven months, viz.: March and April, 1955, followed by the period October, 1955, to February, 1956, inclusive. From the consignments during the month of February, one box may be taken for exhibition
- 3. Every factory competing must grade officially at least 85 per cent of its production as choicest quality.
- 4. The official grading by the State Officers of all the registered choicest brands of factories entered for this competition will be taken each month for the full period and results worked out by taking the actual mean average in which the number of boxes in each consignment, together with the grading points, is taken into account.
- 5. At least four gradings must be recorded each month including at least four churnings, representing at least two vats of cream in each grading during the period of the competition. A competitor who fails to comply with this condition will automatically become ineligible for the prizes.

- 6. The grading points allotted by the State Graders will be taken for the full period and a box average established by dividing the total of the points allotted to each consignment by the total number of boxes graded, and the exhibits obtaining the highest box averages will be awarded the prizes.
 - 1 Bega Co-op. Society, Ltd.
 - 2. Bellinger River Co-op. Butter and Bacon Society,
- Berriquin Co-op. Society, Ltd.
 Casino Co.op. Dairy Society, Ltd.
- 5. Clarence River Pioneer Co-op. Dairy Co., Ltd.
- 6./Cobargo District Co-op. Society, Ltd.
- 7. Comboyne Rural Co-op. Society, Ltd. 8. Dorrigo Co-op. Dairy Co., Ltd.
- 9. Dungog Co-op. Butter Factory, Ltd. 10.3Foley Fros. Pty. Ltd. (Lismore).
- 11. Foley Bros. Pty. Ltd. (Mullumbimby).
 12. Gloucester Co-op. Dairy Co., Ltd.
- 13. Grafton Co-op. Dairy Co., Ltd.
- 14. Hunter Valley Co-op. Dairy Co., Ltd.
- 15. Macleay River Co-op. Dairying Co., Ltd.
- 16. Manning River Co op. Dairy Society, Ltd.
- 17. Nambucca River Co-op. Dairy Society, Ltd.
- Noreo Co-op., Ltd. (Bonalbo).
 Noreo Co-op., Ltd. (Byron Bay).
 Noreo Co-op., Ltd. (Kyogle).

- 21. Noreo Co-op., Ltd. (Lismore).
 22. Noreo Co-op., Ltd. (Murwillumbah).
 23. Nowra Co-op. Dairy Co., Ltd.
- 24. Peters Creameries Pty., Ltd.
- 25. Singleton Co-op. Dairy Co., Ltd.
- 26. Upper Maeleay Co-op. Dairy Co., Ltd.
- 27. Wingham Rural Co-op. Society, Ltd.

CLASS 2—Butter, salted, 1 package, not less than 56lb. Manufactured and packed ready for storage for local consumption. The butter will be judged on arrival at Cold Store, prior to being placed in storage, and again prior to the Show. The factories gaining the

COLES STORES SERVING AUSTRALIA

11-3

Sec. 11-DAIRY PRODUCE-Butter (Continued)

greatest aggregate of both judgings will be awarded the prizes. Exhibits to be in Cold Store by Tuesday, 27th December. First, £10: second, £5; third, £3.

- 28. Bega Co-op. Society, Ltd.
- 29. Bellinger River Co-op. Butter and Bacon Society. Ltd.
- 30. Bemboka Co-op. Dairy Co., Ltd.
- 31. Candelo Co-op. Dairy Society, Ltd. 32. Casino Co-op. Dairy Society, Ltd.
- 33. Cobargo Co-op. Society, Ltd.
- 34. Comboyne Rural Co-op. Society, Ltd. 35. Dorrigo Co-op. Dairy Co., Ltd.
- 36. Downs Co-op. Dairy Assoc., Ltd. (Clifton).
- 37. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).
- 38. Downs Co-op. Dairy Assoc., Ltd. (Dalby).
- 39. Downs Co-op. Dairy Assoc. Ltd. (Goombungee).
- 40. Downs Co-op. Dairy Assoc., Ltd. (Jandowse).
- 41. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba). 42. Dungog Co-op. Butter Factory, Ltd.
- Foley Bros. Pty., Ltd. (Lismore).
 Foley Bros. Pty., Ltd. (Mullumbimby).
- 45. Gloucester Co-op. Dairy Co., Ltd.
- 46. Hunter Valley Co-op. Dairy Co., Ltd.
- 47. Kiewa Butter and Cheese Factory and Creamery Co., Ltd.
- 48. Macleay River Co-op. Dairying Co., Ltd.
- 49. Manning River Co-op. Dairy Society, Ltd. 50. Maryborough Co-op. Dairy Assoc., Ltd. (Kinga-
- 51. Maryborough Co-op, Dairy Assoc., Ltd. (Mundubbera).
- 52. Maryborough Co-op. Dairy Assoc., Ltd. (Wondai).
- 53. Nambucca River Co-op. Dairy Society, Ltd.
- 54. Norco Co-op., Ltd. (Bonalbo).
- 55. Norco Co-op., Ltd. (Byron Bay). 56. Norco Co-op., Ltd. (Kyogle).
- 57. Noreo Co-op., Ltd. (Lismore), 58. Noreo Co-op., Ltd. (Murwillumbah),
- 59. Nowra Co-op. Dairy Co., Ltd.
- 60. Peters Creameries Ptv., Ltd.
- 61. Port Curtis Co-op, Dairy Assoc,, Ltd.
- 62. Singleton Co-op. Dairy Co., Ltd.

- 65. Warwick Co-op. Dairy Assoc., Ltd. (Warwick).

ROYAL SPECIAL EXPORT BUTTER PRIZES.

CLASS 3 Butter, salted, 2 packages, not less than 56lb. each. Manufactured and packed ready for export. First, £10; second, £5; third, £2.

- (a) One box to be staged and judged at the Show, the other box to be forwarded to London and judged there. Points for both judgings, in Sydney and London, to be added and the prizes awarded to the factories obtaining the highest aggregate points, after points for consistency are taken into account.
- (b) Points for consistency in grading will be reconciled by deducting from the aggregate points obtained any points allotted by the judges under the standard of choicest -93 points, e.g., if a butter is awarded 92 points, one point is deducted from the aggregate.
- (c) Butter to contain a minimum of 15 per cent of water and not to contain any preservative other than salt.
- (d) Butter must be in plain standard local boxes (branded boxes not permitted). For purpose

- of identification each box to bear a label stating name of exhibitor and number of class to be competed for. Labels will be removed after boxes have been numbered and registered.
- (e) The butter will, after judging, be sold on factories' account and returns sent to individual factories by the Society.
- 66. Bega Co-op. Society, Ltd.
- 67. Bellinger River Co-op. Butter and Bacon Society. Ltd.
- 68. Bemboka Co-op. Dairy Co., Ltd.
- Candelo Co-op. Dairy Society, Ltd.
 Casino Co-op. Dairy Society, Ltd.
- 71. Cobargo Co-op. Society, Ltd. 72. Comboyne Rural Co-op. Society, Ltd.
- 73. Dorrigo Co-op. Dairy Co., Ltd.
- 74. Downs Co-op, Dairy Assoc., Ltd (Clifton).
- 75. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).
- 76. Downs Co-op, Dairy Assoc., Ltd. (Dalby). 77. Downs Co-op. Dairy Assoc. Ltd. (Goombungee).
- 78. Downs Co-op, Dairy Assoc., Ltd. (Jandowae).
- 79. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).
- 80. Foley Bros. Pty., Ltd. (Lismore). 81. Foley Bros. Pty., Ltd. (Mullumbimby).
- 82. Gloucester Co-op. Dairy Co., Ltd.83. Hunter Valley Co-op. Dairy Co., Ltd.
- 84. Kiewa Butter and Cheese Factory and Creamery Co., Ltd.
- 85. Macleay River Co-op. Dairying Co., Ltd.
- 86. Manning River Co-op. Dairy Society, Ltd. 87. Maryborough Co-op. Dairy Assoc., Ltd. (Kinga-
- 88. Maryborough Co-op, Dairy Assoc., Ltd. (Mun-
- dubbera).
- 89. Maryborough Co-op. Dairy Assoc., Ltd. (Wondai). 90. Nambucca River Co-op. Dairy Society, Ltd.
- 91. Norco Co-op., Ltd. (Bonalbo).
- 92 Noreo Co-op., Ltd. (Byron Bay).
- 93. Noreo Co-op., Ltd. (Kyogle). 94. Norco Co-op., Ltd. (Lismore).
- 95. Norco Co-op., Ltd. (Murwillumbah).
- 96. Nowra Co-op. Dairy Co., Ltd.
- 63. Upper Macleay Co-op. Dairy Co., Ltd.
 64. Warwick Co-op. Dairy Assoc., Ltd. (Allora), 98. Port Curtis Co-op. Dairy Assoc., Ltd.
 - 99. South Wolumla Co-op. Dairy Society, Ltd.
 - 100. Upper Macleay Co-op. Dairy Co., Ltd.
 - 101. Warwiek Co-op. Dairy Assoc., Ltd. (Allora).102. Warwiek Co-op. Dairy Assoc., Ltd. (Warwiek).
 - CLASS 4 Butter, unsalted, 2 packages, not less than 56lb. each. Manufactured and packed ready for export. Conditions similar to Class 3. First, £10; second, £5; third, £2.
 - 103. Bega Co-op. Society, Ltd.
 - 104. Bellinger River Co-op. Butter and Bacon Society,
 - 105. Bemboka Co op. Dairy Co., Ltd.
 - 106. Casino Co-op. Dairy Society, Ltd.
 - 107, Cobargo Co-op. Society, Ltd. 108. Comboyne Rural Co-op. Society, Ltd.
 - 109. Dorrigo Co-op. Dairy Co., Ltd.
 - 110. Downs Co-op. Dairy Assoc., Ltd. (Clifton.)
 111. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).
 - 112. Downs Co-op, Dairy Assoc., Ltd. (Dalby).
 - 113. Downs Co-op. Dairy Assoc., Ltd. (Goombungee). 114. Downs Co-op. Dairy Assoc., Ltd. (Jandowae),
 - 115. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba). 116. Dungog Co-op. Butter Factory, Ltd. 117. Foley Bros., Pty., Ltd. (Lismore).

 - 118. Foley Bros. Pty., Ltd. (Mullurabimby).

FACTORY	Boxes	MARCH Grading Points	Aver-	Boxes	APRIL Grading Points	Aver- age	Boxes	OCTOBER Grading Points	Aver-	Boxes	NOVEMBER Grading Points	Ave»-	Bo x es	DECEMBER Grading Points	Aver- age
1. Bega Co-op. Society	3217	299,391	93.07	2201	205,126	93.20	2602	240,729	92.52	695	64,579	92.92	1421	131,927	92.84
2. Bellinger River Co- op. Society Ltd.	- 2654	243,873	91.89	1765	162,009	91.79	1916	176,588	92.16	2307	214,231	92.86	2367	218,437	92.28
3. Berriquin Co-op. Society Ltd.	at the same of	-	residentes	mateur			2058	187,010	90.87	1753	159,330	90.89	1157	104,978	90.73
4. Casino Co-op. Dairy Society Ltd.	7318	668,816	91.26	6208	572,112	92.16	6950	647,012	93.1	10069	933,277	92.69	12881	1,195,769	92.83
5.Clarence River Pioneer Co-op.Dairy Co.Ltd.	2618	239,779	91.59	1095	101,733	92 .91		are 60°-up stream		2830	261,549	92.42	2797	259,296	92.71
6. Cobargo District Co-op.Society Ltd.	1967	184,085	93.59	1850	174,366	94.25	1503	141,756	74.32	1947	182.921	93.95	2283	215,081	94.21
7. Comboyne Rural Co- op. Society Ltd.	930	85,092	91.50	575	54,195	91.08	690	63,809	92.48	608	55 , 88 9	91.92	1467	135,220	92.17
8. Dorrigo Co-op.Dairy Co. Ltd.	2540	234,871	92.47	2525	234,395	92 .83	1491	137,932	92.51	2178	201,784	92.65	3079	284,694	92.46
9. Dungog Co-op.Butter Factory Ltd.	3186	289,029	90.72	1372	125,667	91.59	2156	197,499	71,60	2798	258,871	92.52	2850	263,267	92.37
10. Foley Bros. Pty Ltd. (Limore).	10734;	1010,576	92.1,3	5109	477,343	93.43	11863	1,100,697	92.80	15702	1,459,344	92.94	13532	1,258,868	9 3. 03
ll.Foley Bros.Pty. Ltd.(Mullumbimby)		-			angles Millerida	-	464	42,585	91.78	945	87,699	92.80	956	87,972	92. 02
12. Cloucester Co-op. Dairy Co.Ltd.	2548	232,411	90.50				981	90,074	91.82	1482	136,127	91.85	1762	163,624	92.86
13.Grafton Co-op.Dairy Co.Ltd.	2462	222,059	90.19	2004	182,600	91.12	1479	136,664	92.40	2337	215,593	92.15	2047	190,163	92.00
14. Hunter Valley Co-op Dairy Co. Ltd.	.1600	148,350	92.72				3950	362,510	91.77	3486	324,680	93.14	5428	523,044	72.74
15. Macleay River Co-op Dairying Co.Ltd.	.3043	277,286	91,12	1777	162,738	91.58	2258	206,597	91.50	3048	282,185	92.58	2952	273,854	92.77
16. Manning River Co-op. Dairy Society Ltd.		240,632	93.05							3707	344,751	93.00	2 7 27	254,896	93.47

							-							A G	GREGAT	E	A
OCTOBER Grading Points	Aver-	Boxes	NOVEMBER Grading Points	Avey-	Boxes	DECEMBER Grading Points	Aver- age	Boxes	JANUARY Grading Points	Aver-	Boxes	FEBRUARY Grading Points	Aver- age	Total Boxes	Total Grading Peints	Aver- age	A R
240,729	92.52	695	64,579	92.92	1421	131,927	92.84	2622	243,753	92.96	4185	390,376	93.28	16,943	1,575,881	93.01	SECOND
176,588	92.16	2307	214,231	92.86	2367	218,437	92.28	2318	213,660	92.17	2215	204,716	92.42	15,542	1,433,514	92.23	
187,010	90.87	1753	159,330	90.89	1157	104,978	90.73	1626	148,082	91,07	1045	94,228	90.17		dell'appropried	property consume	
647,012	93.1	10069	933,277	92.69	12881	1,195,769	92.83	12916	1,203,411	93.17	6056	564,077	93.14	\$2,398	5,784,474	92.70	
	official excess diff	2830	261,549	92.42	2797	259,2%	92.71	3460	321,127	92.81	2043	191,170	92.67			engeneros	
141,756	74.32	1947	182.921	93.95	2283	215,081	54. 21	2205	207,270	34.00	2149	202,006	91+•00	13,904	1,307,485	94.04	FIRST
63,809	92.48	608	55 , 88 9	91.92	1467	135,220	92.17	1146	105,841	92.3€	780	71,529	91.70	*6,216	571 , 5 7 5	91.95	
137,932	92.51	2178	201,784	92.65	3079	284,694	92.46	4415	410,059	92.88	4027	373,790	92.82	20,255	1,877,525	92.69	
197,499	71,60	2798	258,871	92.52	2850	263,267	92.37	2452	227,949	92.96	2501	230,355	92.11	17,315	1,592,637	91.98	
1,100,697	92.80	15702	1,459,344	92.94	13532	1,258,868	93.03	15988	1,484,471	92.85	14204	1,319,7%	92.72	87,332	8,111,295		THIRD
42,585	91.78	945	87,699	92.80	956	87,972	92.02	1589	146,737	92.35	1082	99,472	91.93			-	
90,074	91.82	1482	136,127	91.85	1762	163,624	92.86	1766	163,690	92.69	1207	111,153	92.09	-		-	
136,664	92.40	2337	215,593	92.1	2067	190,163	92.00	2669	245,970	92.16	1603	148,953	92.92	14,623	1,342,002	91.77	
362,510	91.77	3486	324,680	93.14	5428	523,044	92.94	6005	557,•21	92.91	6734	621,829	92.34	-			
206,597	91.50	3048	282,185	92.58	2952	273,854	92.77	4211	388,879	92.35	2817	261,184	92.72	20,106	1,852,725	92.15	
		3707	344,751	93.00	2 7 27	254,896	93.47	4647	434,796	93.56	3106	290,936	93.67				

1956 ROYAL EASTER SHOW-SECTION 11-CLASS 1. PAGE 2

FACTORY	Boxes	MARCH Grading Points	Aver- age	Boxes	APRIL Grading Points	Aver- age	Boxes	OCTOBER Grading Foints	Aver-	Bo x es	NOVEMBER Grading Points	Aver-	Boxes	DECEMBER Grading Points	Aver-
17. Nambueca River Co op. Dairy Society Ltc.		275,222	90.24	2138	196,859	92.08	2545	233,257	91.65	3829	355,070	92.73	3477	321,876	92.52
18. Norco Coop. Ltd. (Bonalbo)	1179	108,197	91.77	1920	178,801	93.13	1418	131,530	92.76	1545	143,408	92.82	1690	156,400	92.54
19. Norco Co-op. Ltd. Byron Bay)	9 947	824,798	92.19	8382	778,574	92.88	35 50	329,390	92.79	5594	520,102	92.97	4559	425,190	93.26
20.Norco Co-op. Ltd.(Kyogle)	10129	923,830	91.21	6793	624,563	91.94	8604	782,909	90.99	11943	1,108,650	92.83	12212	1,133,943	92 .8 5
21.Norco Co-op. Ltd.(Lismore)	8809	817,157	92.76	10027	934,766	93.22	13011	1,220,704	93.82	20857	1,937,921	92.91	18112	1,667,122	92.05
22.Norco Co-op. Ltd.(Murwill- umbah)	7978	728,286	91.29	4242	391,406	92.27	5680	527,050	92.79	7774	720,688	92.70	6165	576,170	93.46
23. Nowra Co-op. Dairy Co.Lid.			-+	1050	97,282	92.65	11.85	109,326	92.68	1351	125,538	92.92	981	90,811,	92 57
24. Peters Creamer- ies Pty. Ltd.	10969	1,012,920	92.34	2900	268,820	92.70	9392	865,616	92.17	12216	1,134,398	92.86	12330	1,145,885	92.93
25. Singleton Co- op. Dairy Co. Ltd.	1381	126,451	91.55	779	71,936	92.34	2767	252,281	91.17	2409	222,847	92.51	2011	186,865	92.92
26. Upper Macleay Co- op. Dairy Co. Ltd.		62,608	91.00										654	60,482	92.48
27. Wingham Rural Co- op. Society Ltd.	- 21417	222,296	90.84	831	76,004	91,46	1079	97,739	92.44	2660	246,467	92.66	3078	284,911	92.56

OCTOBER Grading Foints	Aver-	Bo x es	NOVEMBER Grading Points	Aver-	Boxes	DECEMBER Grading Points	Aver- age	Boxes	JANUARY Grading Points	Aver-	Boxes	FEBRUARY Grading Points	Aver- age	A G G I Total Boxes	Total Grading Points	Aver-	A W R D S
233,257	91.65	38 29	355,070	92.73	347')	321,876	92.52	2642	214,908	92.70	2192	203,487	92.83	19,875	, 1,830,679	92.11	
131,530	92.76	1545	143,408	92.82	1690	156,400	92.54	1948	180,806	92.82	1298	120,464	92.81	10, 998	1,019,606	92.71	
329,390	92.79	5594	520,102	92.97	4559	425,190	93.26	1.1056	1,025,151	92.72	9301	864,071	92.90	51,389	4,767,276	92.77	FOURTH
782,909	90.99	11943	1,108,650	92.83	12212	1,133,943	92.85	12238	1,130,443	92.37	10969	1,019,268	92.92	72,888	6,723,606	92.25	
1,220,704	93.82	20857	1,937,921	92.91	18112	1,667,122	92.05	44722	4,133,489	92.43	14160	1,316,880	93.00	129,598	12,028,039	92.74	
527,050	92.79	7774	720,688	92.70	6165	576,170	93.46	8600	799,945	93.02	4670	433,300	92.78	45,109	4,176,845	92.57	
109,026	92.68	1351	125,538	92.92	981	90,811,	92 57	1470	136,745	93.02	1162	108,378	93.27				
865,616	92.17	12216	1,134,398	92.86	12330	1,145,885	92.93	12750	1,181,920	92.70	11121	1,035,349	93.19	71,478	C, 645, 908	92.72	
252,281	91.17	2409	222,847	92.51	2011	186,865	92.92	2351	218,660	93.01	2672	246,198	92.14	14,370	1,325,238	92.22	
			#### · · · ·	*****	654	60,482	92.48	1292	118,713	91.88	541	49,895	92.23	continues.			
9 7,73 9	92.44	2660	246,467	92.66	3078	284,911	92.56	2939	271,525	92.39	1754	161,994	92.36	14,788	1,362,936	92.16	

120. Hunter Valley Co-op. Dairy Co., Ltd. 121. Kiewa Butter and Cheese Factory and Creamery

Co., Ltd.

122. Macleay River Co-op. Dairying Co., Ltd. 123. Manning River Co-op. Dairy Society, Ltd.

124. Maryborough Co-op. Dairy Assoc., Ltd. (Kinga-

125. Maryborough Co-op. Dairy Assoc., Ltd. (Mundubbera).

126. Maryborough Co-op. Dairy Assoc., Ltd. (Wondai). 127. Nambucea River Co-op. Dairy Society, Ltd.

128. Norco Co-op., Ltd. (Bonalbo).
129. Norco Co-op., Ltd. (Byron Bay).
130. Norco Co-op., Ltd. (Kyogle).

131. Norco Co-op., Ltd. (Lismore).132. Norco Co-op., Ltd. (Murwillumbah).

133. Nowra Co-op. Dairy Co., Ltd. 134.) Peters Creameries Pty., Ltd.

135. Port Curtis Co-op. Dairy Assoc., Ltd.136. South Wolumla Co-op. Dairy Society, Ltd.

137. Upper Macleay Co-op. Dairy Co., Ltd.

138. Warwick Co-op. Dairy Assoc., Ltd. (Allora).139. Warwick Co-op. Dairy Assoc., Ltd. (Warwick).

The "ORIENT LINE JUBILEE COMMEMORATION AWARD FOR EXPORT BUTTER "-BRONZE PLAQUE AND £15 15s., presented by the Orient Steam Navigation Co., Ltd., to the Factory securing the highest aggregate points of both judgings for each of the above classes (3 and 4).

The butter for London will be shipped per R.M.S. "Orlon" on SATURDAY 31st DECEMBER, and the results of the judging in London will be cabled, which will enable the final awards to be announced during the 1956 Royal Easter Show.

CLASS 5 Butter, salted, 1 package, not less than 56lb. Manufactured and packed ready for export. Exhibits to be in Cold Store by Tuesday, 17th January. First, £7; second, £3 15s. ; third, £1 10s.

Bega Co-op, Society, Ltd.
 Bellinger River Co-op, Butter and Bacon Society,

142. Bemboka Co-op. Dairy Co., Ltd.
143. Candelo Co-op. Dairy Society, Ltd.
144. Casino Co-op. Dairy Society, Ltd.

145. Cobargo Co-op. Society, Ltd.146. Comboyne Rural Co-op. Society, Ltd.

147. Dorrigo Co-op. Dairy Co., Ltd.

148. Downs Co-op. Dairy Assoc., Ltd. (Clifton).149. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).

150. Downs Co-op. Dairy Assoc., Ltd. (Dalby). 151. Downs Co-op. Dairy Assoc., Ltd. (Goombungee).

152. Downs Co-op. Dairy Assoc., Ltd. (Jandowse). 153. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).

154. Dungog Co-op. Butter Factory, Ltd. 155. Foley Bros. Pty., Ltd. (Lismore).

156. Foley Bros. Pty., Ltd. (Mullumbimby).

157. Gloucester Co-op. Dairy Co., Ltd.158. Hunter Valley Co-op. Dairy Co., Ltd.

159. Kiewa Butter and Cheese Factory and Creamery Co., Ltd.

Macleay River Co-op. Dairying Co., Ltd.
 Manning River Co-op. Dairy Society, Ltd.

162. Maryborough Co-op. Dairy Assoc., Ltd.

(Kingaroy). 163. Maryborough Co-op. Dairy Assoc., Ltd. (Mundubbera).

164. Maryborough Co-op, Dairy Assoc., Ltd. (Wondai).

165 Nambucca River Co-op. Dairy Society, Ltd.

166. Norco Co-op., Ltd. (Bonalbo). 167.3Norco Co-op., Ltd. (Byron Bay).

168. Norco Co-op., Ltd. (Kyogle).

169. Norco Co-op., Ltd. (Lismore).170. Norco Co-op., Ltd. (Murwillumbah).

171. Nowra Co-op. Dairy Co., Ltd. 172. Peters Creameries Pty., Ltd.

173. Singleton Co-op. Dairy Co., Ltd. 174. South Wolumla Co-op. Dairy Society, Ltd. 175. Upper Macleay Co-op. Dairy Co., Ltd.

176. Warwick Co-op. Dairy Assoc., Ltd. (Allora). 177. Warwick Co-op. Dairy Assoc., Ltd. (Warwick).

BUTTERMAKERS COMPETITION.

CLASS 6 (Special Prizes) First, £15; second, £10; third, £7; fourth, £5; fifth, £3. For the maker of the best box of choicest butter, not less than 56lb. Butter to contain a minimum of 15.5 per cent and a maximum of 16 per cent of moisture; also a minimum of 1.3 per cent and a maximum of 2 per cent of salt. A separate exhibit to be provided for this competition. The entry to be in the name of the maker of the butter; the name of the factory to which the competitor is maker to be stated on certificate of entry; the name of the factory shall not be published until after judging. Exhibits to be in Cold Store by Thursday, 16th February.

197. Leighton, J. A. 178. Astbury, A. 198. Hall, J. 179. Barron, V. 199. McCann, B. 180. Blacka, V. K. 200. Moy, R. G. 181. Blythe, H. 182. Brett, T. 201. O'Dea, T. 183. Cameron, W. G. 202. Pigott, F. 203. Rawson, J. G. 184. Cork, i.. 204. Rennick, W. 185. Dare, L. 205. Russell, T. E. 186. Dunning, W. J. 206. McDonald, T. H. 187. Ferguson, W. N. 188. Gerahty, M. 207. Squelch, C. 208. Vidler, I. 189. Gibson, R. 190. Sharpe, H. J. 209. Volker, H. J. 210. Walker, S. N. 191, Green, A. R. 211. West, A. V. 192. Hanford, G. 193. Hannaway, O. L. 212. Wheeldon, J. 213. Wilson, J. 194. Hinton, J. 214. Wilson, K. 195. Howlett, S. 196. Kedzlie, A.

Chly sward CLASS 7-PRINT BUTTER, one box containing 54 lib. prints of salted butter. To be printed and packed at the factory and wrapped in special wrappers supplied by the Society.
Wrappers will be forwarded to each factory immediately on receipt of entry. The top layer of each box to be laid flat with the printed side of wrappers uppermost. Exhibits to be in Cold Store not later than Wednesday, 7th March, sixteen days prior to the opening date of the Show. First, £8; second, £5; third, £2.

Bega Co-op. Society, Ltd.
 Bellinger River Co-op. Butter and Bacon Society,

217. Bemboka Co-op. Dairy Co., Ltd.

218. Casino Co-op. Dairy Society, Ltd.

219. Cobargo Co-op. Society, Ltd.

COLES STORES SERVING AUSTRALIA

11-5

Sec. 11-DAIRY PRODUCE-Butter (Continued), and Dried Milk

220. Comboyne Rural Co-op, Society, Ltd. 221. Dorrigo Co-op. Dairy Co., Ltd. 222. Dungog Co-op. Butter Factory, Ltd. 223. Foley Bros. Pty. Ltd. (Lismore). 224. Foley Bros. Pty., Ltd. (Mullumbimby). 225. Gloucester Co-op. Dairy Co., Ltd. 226. Hunter Valley Co-op. Dairy Co., Ltd. 227. Macleay River Co-op. Dairying Co., Ltd. 228 Manning River Co-op. Dairy Society, Ltd. 434 25 this prize. 229. Nambucca River Co-op. Dairy Society, Ltd. 230. Noreo Co-op., Ltd. (Bonalbo). 231. Noreo Co-op., Ltd. (Byron Bay).

232. Noreo Co-op., Ltd. (Kyogle). 233. Norco Co-op., Ltd. (Lismore). 234. Norco Co-op., Ltd. (Murwillumbah).

235. Peters Creameries Pty., Ltd. 236. Singleton Co-op, Dairy Co., Ltd.

237 South Wolumla Co-op. Dairy Society, Ltd.

238. Upper Macleay Co-op. Dairy Co., Ltd.

CLASS 8 Butter, 1 package, not less than 56lb. Manufactured for local consumption. Exhibits to be delivered to the Cold Store, where they will be judged, not later than Monday, 12th March. First, £15; second, £10; third, £7; fourth, £5.

239. Bega Co-op. Society, Ltd.

240. Bellinger River Co-op. Butter and Bacon Society, Ltd.

Bemboka Co op. Dairy Co., Ltd.
 Candelo Co-op. Dairy Society, Ltd.
 Casino Co-op. Dairy Society, Ltd.

244. Cobargo Co-op. Society, Ltd. 245. Comboyne Rural Co-op. Society, Ltd.

246. Dorrigo Co-op. Dairy Co., Ltd. 247. Downs Co-op. Dairy Assoc., Ltd. (Clifton). 248. Downs Co-op, Dairy Assoc., Ltd. (Crow's Nest).

249. Downs Co-op. Dairy Assoc., Ltd. (Dalby). 250. Downs Co-op. Dairy Assoc., Ltd. (Goombungee).

251, Downs Co-op. Dairy Assoc., Ltd. (Jandowae). 252. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).

253. Dungog Co-op. Butter Factory, Ltd. 254. Foley Bros. Pty., Ltd. (Lismore).

255. Foley Bros. Pty., Ltd. (Mul'umbimby). 256. Gloucester Co-op. Dairy Co., Ltd. 257. Hunter Valley Co-op. Dairy Co., Ltd.

258. Kiewa Butter and Cheese Factory and Creamery Co., Ltd.

259. Macleay River Co-op. Dairying Co., Ltd. 260 Manning River Co-op. Dairy Society, Ltd.

261. Maryborough Co-op. Dairy Assoc., Ltd. (Kingarov).

262. Maryborough Co-op. Dairy Assoc., Ltd. (Mundubbera)

263. Maryborough Co-op. Dairy Assoc., Ltd. (Wondai). 264. Nambucea River Co-op. Dairy Society, Ltd.

265. Norco Co-op., Ltd. (Bonalbo). 266. Norco Co-op., Ltd. (Byron Bay).

267 Noreo Co-op., Ltd. (Kyogle). 288. Noreo Co-op., Ltd. (Lismore).

269. Norco Co-op., Ltd. (Murwillumbah). 270. Nowra Co-op. Dairy Co., Ltd.

271. Peters Creameries Pty., Ltd. 272. Singleton Co-op. Dairy Co., Ltd.

273 & South Wolumla Co-op. Dairy Society, Ltd. 274. Upper Macleay Co-op. Dairy Co., Ltd.

275. Warwick Co-op. Dairy Assoc., Ltd. (Allora).

276. Warwick Co-op. Dairy Assoc., Ltd. (Warwick).

Special Prize £5 5s., presented by the Producers' Co-operative Distributing Society, Ltd., Valentine and Quay-sts., Sydney, for the factory securing the greatest aggregate number of points in all classes and special prizes for butter, provided that the mean average of the Continuous Grading Class be included instead of the aggregate. A separate entry will not be required for

DRIED MILK.

Judgen: Stewards : R. C. Hottes, C. R. Buttsworth Department of Commerce H. Perrott and Agriculture, Margaret-st., Sydney.

J. McGahey, Department of Commerce and Agriculture, Margaret-st., Sydney.

To be judged on the following scale of points:-

 Flavour
 ...
 ...
 ...
 ...
 ...
 20

 Sediment
 ...
 ...
 ...
 ...
 10

 Solubility
 ...
 ...
 ...
 ...
 10

 Packaging and Appearance
 ...
 ...
 20

 Total 100

CLASS 9 Dried Full Cream Milk (Spray Process). To be to export standard in two UNBRANDED packages (Polyethylene bags to be supplied by the Society) each containing not less than 7lb. net weight. One bag shall be used for display purposes. Each exhibit to contain not less than 26 per cent butter-fat, not more then 5 per cent moisture, and .18 per cent titratable acidity. First, £6; second, £2; third, £1.

277. British United Dairies, Ltd.

278. Co-op Dairy Assoc. of N.S.W., Ltd. 279. Holdenson and Nielsen Pty., Ltd.

280. Hunter Valley Co-op. Dairy Co., Ltd. 281. Kiewa Butter and Cheese Factory and Creamery Co., Ltd.

282. Maffra Co-op., Ltd.

283. Manning River Co-op. Dairy Society, Ltd. 284. Peters Creameries Pty., Ltd.

285. Trufood of Australia, Ltd.

CLASS 10 Dried Full Cream Milk (Roller Process). Same conditions as Class 9. First, £6; second, £2 ! third, £1.

286. British United Dairies, Ltd. 287. Co-op. Dairy Assoc. of N.S.W., Ltd.

288. Holdenson and Nielsen Pty., Ltd.

289. Manning River Co-op. Dairy Society, Ltd. 290. Peters Creameries Pty., Ltd.

CLASS 11 Dried Skimmed Milk (Spray Process). To be to export standard in two UNBRANDED packages (Polyethylene bags to be supplied by the Society; each containing not less than 71b. net weight. One bag shall be used for display purposes. Each exhibit to contain not more than 4 per cent butter-fat, 5 per

11 - 6

Sec. 11-DAIRY PRODUCE-Dried Milk (Continued), and Cheese

cent moisture, and .18 per cent titratable acidity. First, £6: second, £2: third, £1.

291.	British	United	Dairie	w, Ltd.	
292	Casino	Co.op.	Dairy	Society,	Lt

293. Co-op. Dairy Assoc. of N.S.W., Ltd.

Dumbalk Co-op. Society, Ltd.
 Holdenson and Nielsen Pty., Ltd.

296 Hunter Valley Co-op. Dairy Co., Ltd.

297. Kiewa Butter and Cheese Factory and Creamery Co., Ltd.

298. Kiewa Co-op. Society, Ltd. 299. Korumburra Co-op. Society, Ltd.

300. Maffra Co-op., Ltd.

301. Manning River Co-op. Dairy Society, Ltd.

302. Peters Creameries Pty., Ltd. 303. Trufood of Australia, Ltd.

CLASS 12 Dried Skimmed Milk (Roller Process). Same conditions as Class 11. First, £6: second, £2 ! third, £1.

304. British United Dairies, Ltd.

305. Casino Co-op. Dairy Society, Ltd. 306. Co-op. Dairy Assoc. of N.S.W., Ltd.

307. Holdenson and Nielsen Pty., Ltd. 308 Manning River Co-op. Dairy Society, Ltd.

309. Peters Creameries Pty., Ltd.

CLASS 13 Dried Butter Milk. To be to export standard in two UNBRANDED packages (Polyethylene bags to be supplied by the Society) each containing not less than 71b. net weight. One bag shall be used for display purposes. Each exhibit to contain not more £2 : thlid, £1.

310. British United Dairies, Ltd.

311. Casino Co-op. Dairy Society, Ltd.

312. Co-op Dairy Assoc, of N.S.W., Ltd.

313. Holdenson and Nielsen Pty., Ltd.

314. Holdenson and Nielsen Pty., Ltd. 315. Manning River Co-op. Dairy Society, Ltd.

MOST SUCCESSFUL EXHIBITOR IN DRIED MILK CLASSES.

(See conditions at head of Section).

(Special Prize) £5 or a cup or Trophy, for the most successful exhibitor in any three of the foregoing classes | Classes 9 to 13).

PETERS CREAMERIES PTY LTD. CHEESE. 101.6 CHEESE.

Judges :

Stewards :

(Export) C. R. Buttsworth R. C. Hottes, Department of Commerce H. Perrott

and Agriculture, Margaret-st.,

Sydney. J. McGahey,

Department of Commerce and Agriculture, Margaret-st.,

Sydney. (Local Consumption) H. E. Silversides,

D. I. Gillies Department of Agriculture, J. C. P. Setchell

N.S.W Sydney.

One or more entries may be made by exhibitors but only one prize to be awarded to individual exhibitors in any one class.

Judging to commence on Thursday, 22nd March. Exhibits in cheese classes must conform to the

(a) Each cheese of 80lb. or 40lb. shall be rimless unless otherwise specified.

(b) Each Chedder cheese other than Loaf, shall weigh approximately 80lb, or 40lb,

(c) The height of an 80lb. and 40lb. cheese shall be approximately 121 and 61 inches respec-

(d) Cheese shall have a diameter of approximately 7 inches for 10lb. loaf; 7% inches for 14lb. loaf; 141 inches for 40lb. or 80lb. cheese.

SCALE OF POINTS FOR JUDGING.

FLAVOUR : Mild a	ind rie	eh			50
TEXTURE AND C texture and ele FINISH : Should b	ar, b	right co	olour		30
of clean comme					20
Total	Lin	1006	200	10	100

The brands on all exhibits will be covered with paper or cloth. All exhibits must be in position not later than 5 p.m. on Tuesday, 20th March. Exhibits will be delivered from 9 a.m. on Wednesday, 4th April.

Each factory must supply agent with delivery order to obtain cheese.

CHEESE FOR EXPORT.

than 7 per cent moisture. First, £6 : second, CLASS 14 Two cheeses packed as for export in one crate containing not less than 160lb. net. Packing and crating to be in accordance with Exports Dairy Produce Regulations with the exception that ends of crate shall be unbranded. Each cheese shall be stamped on the side with the date of manufacture and number of the vat and shall be not less than four weeks nor more than eight weeks old at the time of judging. First, £7 10s.; second, £3 15s.; third, £1 10s.

> 316 Girgarre Cheese Factory and Trading Co. Pty., Ltd.

317. Macleay River Co.op. Dairying Co., Ltd. 318. Maryborough Co.op. Dairy Assoc., Ltd. (Tansey).

319. Noreo Co-op., Ltd. (Duncon).

320. Norco Co-op., Ltd. (Lismore).

321. Warwick Co-op. Dairy Assoc., Ltd. (Warwick).

CLASS 15 Three cheeses packed as for export in one crate containing not less than 120lb. net. Packing and crating to be in accordance with Exports Dairy Produce Regulations with the exception that ends of crate shall be unbranded. Each cheese shall be stamped on the side with the date of manufacture and vat number and shall be not less than four weeks nor more than eight weeks old at time of judging. First, £7 10s.; second, £3 15s. : third, £1 10s.

322. Dairy Farmers' Co-op. Milk Co., Ltd.

3232 Girgarre Cheese Factory and Trading Co. Pty.

324. Macleay River Co-op. Dairying Co., Ltd. 325. Manning River Co-op. Dairy Society, Ltd.

COLES STORES SERVING AUSTRALIA

Sec. 11-DAIRY PRODUCE-Cheese (Continued), and Hams, Bacon, and Lard

328. Maryborough Co.op. Dairy Assoc., Ltd. (Tansey). 377. Smith Bros. Cheese Factory.

327. Moruya Co-op. Cheese Society. 328. Norco Co-op., Ltd. (Dunoon).

329. Norco Co-op., Ltd. (Lismore),

330. Warwick Co-op. Dairy Assoc., Ltd. (Warwick).

CHEESE FOR LOCAL CONSUMPTION.

CLASS 16 Two Cheeses, matured, LOAF. First, 380. Maclesy River Co-op. Dairying Co., Ltd. £7 10s.; second, £3 15s.; third, £1 10s.

331. Buckajo Cheese Factory.

332. Dairy Farmers' Co-op. Milk Co., Ltd.

333. Girgarre Cheese Factory and Trading Co. Pty.,

334 Macleay River Co-op. Dairying Co., Ltd.

335. Manning River Co-op. Dairy Society, Ltd. 336. Maryborough Co-op. Dairy Assoc., Ltd. (Tansey),

337. Moruya Co-op. Cheese Society.

338. Norco Co-op., Ltd. (Duncon).

339. Noroo Co-op., Ltd. (Lismore). 340. Singleton Co-op. Dairy Co., Ltd.

341,38mith Bros. Cheese Factory.

342. Warwick Co-op. Dairy Assoc., Ltd. (Warwick),

CLASS 17 Two cheeses, matured, LARGE, 40lb. or over. First, £7 10s.; second, £8 15s.; third, £1 10s.

343. Buckajo Cheese Factory,

344. Dairy Farmers' Co-op. Milk Co., Ltd.

345. Girgarre Cheese Factory and Trading Co. Pty., Ltd

346. Macleay River Co-op. Dairying Co., Ltd.

347. Manning River Co-op. Dairy Society, Ltd. 348. Maryborough Co-op. Dairy Assoc., Ltd. (Tansey).

349. Moruya Co-op. Cheese Society. 350. Norco Co-op., Ltd. (Dunoon).

351 Norco Co-op., Ltd. (Lismore).

352. Singleton Go-op. Dairy Co., Ltd. 353. Smith Bros. Cheese Factory.

354. Warwick Co-op. Dairy Assoc., Ltd. (Warwick).

CLASS 18 Two Cheeses, LARGE, 40lb. or over, not more than 6 weeks old. First, £7 10s.; second, £3 15s. : third, £1 10s.

355. Buckajo Cheese Factory,

356. Dairy Farmers' Co-op. Milk Co., Ltd.

357. Girgarre Cheese Factory and Trading Co. Pty.,

358. Maeleay River Co-op. Dairying Co., Ltd. 359. Manning River Co-op. Dairy Society, Ltd.

360. Maryborough Co-op. Dairy Assoc., Ltd. (Tansey).

361. Moruva Co-op. Cheese Society, 362. Norco Co-op., Ltd. (Duncon).

363. Norco Co-op., Ltd. (Lismore). 364. Singleton Co-op. Dairy Co., Ltd.

365. Smith Bros. Cheese Factory.

366. Warwick Co-op. Dairy Assoc., Ltd. (Warwick).

CLASS 19 Two Cheeses, LOAF, not more than 6 weeks old. First, £7 10s.; second, £8 15s.; third, £1 10s.

367. Buckajo Cheese Factory.
368. Dairy Farmers' Co-op. Milk Co., Ltd. 360 Girgarre Cheese Factory and Trading Co. Pty.,

370. Macleay River Co-op. Dairying Co., Ltd. 371. Manning River Co-op. Dairy Society, Ltd.

372. Maryborough Co-op. Dairy Assoc., Ltd. (Tansey). 373. Moruya Co-op. Cheese Society.

374. 3Noreo Co-op., Ltd. (Dunoon). 375. Norco Co-op., Ltd. (Lismore). 376. Singleton Co-op. Dairy Co., Ltd.

370. Warwick Co-op. Dairy Assoc., Ltd. (Warwick),

CLASS 20 Two Cheeses, BLUE VEINED. First, £5; second, £2; third, £1.

376. Girgarre Cheese Factory and Trading Co. Pty.,

CLASS 21 (No Entry).

CLASS 22-Two Cheeses, any one variety, other than Cheddar or Blue Veined types. To be exhibited as two complete cheeses, or two 51b. blocks. First, £5; second, £2; third, £1.

381. Girgarre Cheese Factory and Trading Co. Pty.,

382. Macleay River Co-op. Dairying Co., Ltd. 383. Norco Co-op., Ltd. (Dunoon). 384. Noreo Co-op., Ltd. (Lismore).

385. Singleton Co-op. Dairy Co., Ltd.

CHEESEMAKERS' COMPETITION.

CLASS 23 (Special Prizes) First, £8; second, £4; third, £2. For the maker of the best Cheddar Loaf Cheese not less than 14ib. manufactured and packed ready for storage for local consumption. The Cheese shall be not less than 12 weeks old at time of judging. It shall carry marks at centre of side surface in rubber stamp or stencil figures indicating date of manufacture, shall be clean-surfaced with neat rims but not waxed or coated, and shall have a diameter of approximately 7-7/8 inches.

The entry is to be made in the name of the maker of the Cheese. The name of the factory for which the competitor is making must be stated on the certificate of entry but shall not be disclosed till after judging.

386. Bateman, R. 392. Parbury, —. 387. Booth, G. 393. Smith, G. 388. Brooks, R. 394. Smith, W.

389. Connally, H. 395 Varnum, M.W. 390. Kelly, T. H. 396. Younger, R. 391 J Leslie, J. 397. Northam, H. G.

MOST SUCCESSFUL CHEESEMAKER.

(See conditions at head of Section).

(Special Prize) £5 or a Cup or Trophy, for the maker the cheese exhibited by the most successful

HAMS, BACON, AND LARD.

Judge

G. M. D. Carso. J. R. Dains Department of Agriculture,

N.S.W., Sydney.

One or more entries may be made by exhibitors in each class but only one prize to be awarded to individual exhibitors in any one class.

ALL EXHIBITS TO BE UNBRANDED (GOVERN-MENT BRANDS EXCEPTED) AND IN UNBRANDED WRAPPERS, and must be in position not later than 5 p.m. on Wednesday, 21st March. Exhibits will not be received after this date. Exhibits will be cut not more than 24 hours before judging.

Sec. 11-DAIRY PRODUCE-Hams, Bacon, and Lard (Continued)

Exhibits will be delivered from 9 a.m. on Wednesday, 4th April. Each factory must supply agents with delivery order to obtain exhibits.

No exhibit to be acraped or trimmed in any way whilst in the possession of the Society, except with the written approval of the Director; any violation of this rule will disqualify the exhibit.

All exhibits in the Ham and Bacon classes must have been cured by and on the premises of the factory making the entry.

SCALE OF POINTS FOR JUDGING. HAMS (OTHER THAN CANNED) AND BACON.

	Pointe
FLAVOUR: Should be sweet and mild COLOUR: Should be natural and even	30
PROPORTION OF FAT AND LEAN: Should be nicely mixed, with lean	20
predominating TEXTURE AND FIRMNESS: Should be	20
fine in grain and firm for cutting CONFORMATION: Shoulders should be fine in bone. Middles should be lengthy and straight in lines. Hams should be	10
plump and fine in bone FINISH: Should be smooth, bright, and	10
neatly cut, with smoking not too dark	10
Total	100

CANNED HAMS.

					1'oints
			275	***	50
ON	FAT TO	LEAN	ī	***	10
				***	10
100	•••	***			10
			***	-	20
* * *	***			***	20
al	*14		101	***	100
	LA	RD.			Points
	411				40
			***	***	25
	***				25
D A	PPEAR		414	***	10
al			***	***	100
	al D A	al LAI	LARD. D APPEARANCE	LARD. D APPEARANCE	LARD. D APPEARANCE

CLASS 26 Hams, two, factory cured and smoked. First, £5 : second, £8 : third, £2.

398. Barnes Bacon Co. Pty., Ltd.

399. Bellinger River Co.op. Butter and Bacon Society, Ltd.

400. Conkey and Sons, Ltd.

401 Dorrigo Co-op. Dairy Co., Ltd.

402. Foley Bros. Pty., Ltd. (Lismore).

403. Manning River Co-op. Bacon Society, Ltd. 404. Merimbula Co-op. Bacon Society, Ltd.

405. Merimbula Co-op. Bacon Society, Ltd.

406. Norco Co-op., Ltd. (Byron Bay).

407. Silvester Bros. 408. Silvester Bros.

CLASS 27 Bacon, two sides, factory cured and smoked. First, £5; second, £3; third, £2.

409. Barnes Bacon Co. Pty., Ltd.

410. Bellinger River Co-op. Butter and Bacon Society,

411. Conkey and Sons, Ltd.

412. Dorrigo Co.op. Dairy Co., Ltd. 413. Foley Bros. Pty., Ltd. (Lismore).

414. Manning River Co-op. Bacon Society, Ltd.

418. Merimbula Co-op. Bacon Society, Ltd. 416. Merimbula Co-op. Bacon Society, Ltd. 417 Norco Co-op., Ltd. (Byron Bay).

418. Silvester Bros.

419. Silvester Bros.

CLASS 28 Bacon, two flitches, factory cured and smoked. First, £5: second, £3; third, £2.

420. Barnes Bacon Co. Pty., Ltd. 421. Bellinger River Co-op. Butter and Bacon Society,

422. Conkey and Sons, Ltd.

423. Dorrigo Co-op. Dairy Co., Ltd. 424. Foley Bros. Pty., Ltd. (Lismore).

425. Manning River Co-op. Bacon Society, Ltd. 426. Merimbula Co-op. Bacon Society, Ltd.

427. Merimbula Co-op. Bacon Society, Ltd.

428 Norco Co-op., Ltd. (Byron Bay).

429. Silvester Bros. 430. Silvester Bros.

CLASS 29 Bacon, two middles, factory cured and smoked. First, £5; second, £3; third, £2.

431. Barnes Bacon Co. Pty., Ltd.

432. Bellinger River Co-op. Butter and Bacon Society,

433. Conkey and Sons, Ltd.

434. Dorrigo Co-op. Dairy Co., Ltd. 438. Foley Bros. Pty., Ltd. (Lismore).

436. Manning River Co-op. Bacon Society, Ltd.

437. Merimbula Co-op. Bacon Society, Ltd.

438. Merimbula Co-op. Bacon Society, Ltd. 439. Norco Co-op., Ltd. (Byron Bay).

440. Silvester Bros.

441. Silvester Bros.

CLASS 30 (No Entry).

CLASS 31-(No Entry).

CLASS 32-Lard, 56lb. box. First, £3; second, £2; third, £1.

442. Bellinger River Co-op. Butter and Bacon Society, Ltd.

443 Dorrigo Co-op. Dairy Co., Ltd.

444. Foley Bros. Pty., Ltd. (Lismore). 445. Manning River Co-op. Bacon Society, Ltd.

446. Merimbula Co-op. Bacon Society, Ltd.

447. Norco Co-op., Ltd. (Byron Bay).

MOST SUCCESSFUL BACON CURER.

(See conditions at head of Section).

(Special Prize) -£5 or a cup or Trophy, for the curer of the bacon exhibited by the most successful exhibitor in Classes 26 to 29.

INDEX TO EXHIBITORS

Section 11—DAIRY PRODUCE

ASTBURY, A., c/o. Downs Co-op. Dairy Assoc., DAIRY FARMERS' CO-OP MILK CO., LTD., Ltd., Crow's Nest, Q'ld.

BARNES BACON CO. PTY., LTD., Homebush,

Barron, V., c/o. Downs Co-op., Dairy Assoc., Ltd., P.O. Box 209, Toowoomba, Q'ld. Bateman, R., c/o. Buckajo Cheese Factory, Bega,

N.S.W. Bega Co-op., Society, Ltd., Bega, N.S.W. Bellinger River Co-op., Butter and Bacon Society,

Ltd., Bellingen, N.S.W. Bemboka Co-op. Dairy Co., Ltd., Bemboka, N.S.W.

Berriquin Co-op. Society, Ltd., Finley, N.S.W Blacka, V. K., c/o. Cobargo Co-op. Society, Ltd.,

Cobargo, N.S.W. Blythe, H., c/o. Comboyne Rural Co-op. Society, Ltd., Comboyne, N.S.W.

Booth, G., c/o. Dairy Farmers' Co-op. Milk Co., Ltd., Robertson, N.S.W. Brett, T., c/o. Macleay River Co-op. Dairying

Co., Ltd., Kempsey, N.S.W. British United Dairies, Ltd., Toora, Vic.

Brooks, R., c/o. Norco Co-op., Ltd. (Dunoon), P.O. Box 73, Byron Bay, N.S.W. Buckajo Cheese Factory, Bega, N.S.W.

CAMERON, W. G., c/o. Manning River Co-op. Dairy Society, Ltd., Taree, N.S.W. Candelo Co-op. Dairy Society, Ltd., Candelo, N.S.W.

Casino Co-op. Dairy Society, Ltd., P.O. Box 22, Casino, N.S.W.

Clarence River Pioneer Co-op. Dairy Co., Ltd., Ulmarra, N.S.W.

Cobargo Co-op. Society, Ltd., Cobargo, N.S.W. Comboyne Rural Co-op. Society, Ltd., Comboyne, N.S.W.

Conkey and Sons, Ltd., Cootamundra, N.S.W. Connally, H., c/o. Girgarre Cheese Factory and
Trading Co. Pty., Ltd., Girgarre, Vic.
Co-op. Dairy Assoc. of N.S.W., Ltd., Coff's Harbour, N.S.W.

Cork, L., c/o. Casino Co-op., Dairy Society, Ltd., Casino, N.S.W.

Robertson, N.S.W.

Dare, L., c/o. Norco Co-op., Ltd., (Murwillumbah) P.O. Box 73, Byron Bay, N.S.W. Dorrigo Co-op. Dairy Co., Ltd., P.O. Box 13,

Dorrigo, N.S.W. Downs Co-op. Dairy Assoc., Ltd., Clifton, Q'ld. Downs Co-op. Dairy Assoc., Ltd., Crow's Nest, Q'Id.

Downs Co-op. Dairy Assoc., Ltd., Dalby, Q'ld. Downs Co-op. Dairy Assoc., Ltd., Goombungee,

Downs Co-op. Dairy Assoc., Ltd., Jandowae, Q'ld.

Downs Co-op. Dairy Assoc., Ltd., P.O. Box 209, Toowoomba, Q'ld.

Dumbalk Co-op. Society, Ltd., Dumbalk, Vic. Dungog Co-op. Butter Factory, Ltd., Dungog, N.S.W.

Dunning, W. J., c/o. South Wolumla Co-op. Dairy Society, Ltd., South Wolumla, N.S.W.

FERGUSON, W. N., c/o. Candelo Co-op., Dairy Society, Ltd., Candelo, N.S.W.
Foley Bros. Pty., Ltd., P.O. Box 93, Lismore, N.S.W.

Foley Bros. Pty., Ltd., P.O. Box 53, Mullum-bimby, N.S.W.

GERAHTY, M., c/o. Downs Co-op. Dairy Assoc., Ltd., Goombungee, Q'ld.

Gibson, R., c/o. Hunter Valley Co-op. Dairy Co., Ltd., Hexham, N.S.W. Girgarre Cheese Factory and Trading Co. Pty., Ltd., Girgarre, Vic.

Gloucester Co-op. Dairy Co., Ltd., Gloucester, N.S.W.

Grafton Co-op. Dairy Co., Ltd., Grafton, N.S.W. Green, A. R., c/o. Norco Co-op., Ltd. (Byron Bay), P.O. Box 73, Byron Bay, N.S.W.

HALL, J., c/o. Bellinger River Co-op. Butter and Bacon Society, Ltd., Bellingen, N.S.W.

Hanford, G., c/o. Downs Co-op. Dairy Assoc., Ltd., Clifton, Q'ld.

INDEX TO EXHIBITORS—Sec. 11—DAIRY PRODUCE (Continued)

Assoc., Ltd., Mundubbera, Q'ld. Hinton, J., c/o. Dorrigo Co-op. Dairy Co., Ltd.,

Dorrigo, N.S.W. Holdenson and Nielsen Pty., Ltd., Numurkah,

Holdenson and Nielsen Pty., Ltd., Warragul,

Howlett, S., c/o. Nowra Co-op. Dairy Co., Ltd., Bomaderry, N.S.W.

Hunter Valley Co-op. Dairy Co., Ltd., Hexham, N.S.W.

KEDZLIE, A., c/o. Norco Co-op., Ltd. (Lismore), P.O. Box 73, Byron Bay, N.S.W.

Kelly, T. H., c/o. Warwick Co-op. Dairy Assoc., Ltd., Warwick, Q'ld.

Kiewa Co-op. Society, Ltd., Kiewa, Vic.

Kiewa Butter and Cheese Factory and Creamery Co., Ltd., Kiewa, Vic.

Korumburra Co-op. Society, Ltd., Korumburra, Vic.

LEIGHTON, J. A., c/o. Singleton Co-op. Dairy Co., Ltd., P.O. Box 8, Singleton, N.S.W. Leslie, J., c/o. Norco Co-op., Ltd. (Lismore), P.O. Box 73, Byron Bay, N.S.W.

McCANN, B., c/o. Foley Bros. Pty., Ltd., P.O. Box 53, Mullumbimby, N.S.W.

McDonald, T. H., c/o. Dungog Co-op. Dairy Co., Ltd., Dungog, N.S.W

Macleay River Co-op. Dairying Co., Ltd., Kempsey, N.S.W.

Maffra Co-op., Ltd., Maffra, Vic.

Manning River Co-op. Dairy Society, Ltd., Taree, N.S.W.

Manning River Co-op. Bacon Society, Ltd., Wingham, N.S.W

Maryborough Co-op. Dairy Assoc., Ltd., Kingaroy, Q'ld. Maryborough Co-op. Dairy Assoc., Ltd., Mun-

dubbera, Q'ld. Maryborough Co-op. Dairy Assoc., Ltd., Tansey,

Maryborough Co-op. Dairy Assoc., Ltd., Wondai, Q'ld.

Merimbula Co-op. Bacon Society, Ltd., Merimbula, N.S.W.

Moruya Co-op. Cheese Society, Moruya, N.S.W. Moy, R. G., c/o. Peters Creameries Pty., Ltd., P.O. Box 103, Taree, N.S.W.

NAMBUCCA RIVER CO-OP. DAIRY SOCIETY, LTD., Macksville, N.S.W.

Northam, H. G., c/o. Manning River Co-op. Dairy Society, Ltd., Taree, N.S.W.

Norco Co-op., Ltd. (Bonalbo), P.O. Box 73, Byron Bay, N.S.W.

Norco Co-op., Ltd. (Byron Bay), P.O. Box 73, Byron Bay, N.S.W.

Norco Co-op., Ltd. (Dunoon), P.O. Box 73, Byron Bay, N.S.W. Norco Co-op., Ltd. (Kyogle), P.O. Box 73, Byron

Bay, N.S.W.

Norco Co-op., Ltd. (Lismore), P.O. Box 73, Byron Bay, N.S.W.

Norco Co-op., Ltd. (Murwillumbah), P.O. Box 73, Byron Bay, N.S.W.

Hannaway, O. L., c/o. Maryborough Co-op. Dairy O'DEA, T., c/o. Downs Co-op. Dairy Assoc., Ltd., Dalby, Q'ld.

> PARBURY, -., c/o. Moruya Co-op. Cheese Society, Moruya, N.S.W.

> Peters Creameries Pty., Ltd., P.O. Box 103, Taree, N.S.W.

Pigott, F., c/o. Nambucca River Co-op., Dairy Society, Ltd., Macksville, N.S.W.

Port Curtis Co-op. Dairy Assoc., Ltd., P.O. Box 45, Monto, Q'ld.

RAWSON, J. G., c/o. Maryborough Co-op. Dairy Assoc., Ltd., Kingaroy, Q'ld.

Rennick, W., c/o. Downs Co-op. Dairy Assoc., Ltd., Jandowae, Q'ld.

Russell, T. E., c/o. Maryborough Co-op. Dairy Assoc., Ltd., Wondai, Q'ld.

SHARPE, H. J., c/o. Bemboka Co-op., Dairy Co., Ltd., Bemboka, N.S.W.

Silvester Bros., Regent-st., Redfern, N.S.W. Singleton Co-op. Dairy Co., Ltd., P.O. Box 8, Singleton, N.S.W.

Smith Bros., Cheese Factory, Pambula, N.S.W. Smith, G., c/o. Maryborough Co-op. Dairy Assoc., Ltd., Tansey, Q'ld.

Smith, W., Cheese Factory, Pambula, N.S.W. South Wolumla Co-op. Dairy Society, Ltd., South Wolumla, N.S.W.

Squelch, C., c/o. Norco Co-op., Ltd. (Bonalbo), P.O. Box 73, Byron Bay, N.S.W.

TRUFOOD OF AUSTRALIA, LTD., 84-88 William-st., Melbourne.

UPPER MACLEAY CO-OP. DAIRY CO., LTD., Toorooka, N.S.W.

VARNUM, M. W., c/o. Singleton Co-op. Dairy Co., Ltd., P.O. Box 8, Singleton, N.S.W.

Vidler, I., c/o. Foley Bros. Pty., Ltd., P.O. Box 93, Lismore, N.S.W.

Volker, H. J., c/o. Warwick Co-op. Dairy Assoc., Ltd., Allora, Q'ld.

WALKER, S. N., c/o. Bega Co-op. Society, Ltd., Begn. N.S.W.

Warwick Co-op. Dairy Assoc., Ltd., Allora, Q'ld. Warwick Co-op. Dairy Assoc., Ltd., Warwick,

West, A. V., c/o. Gloucester Co-op. Dairy Co., Ltd., Gloucester, N.S.W.

Wheeldon, J., c/o. Upper Macleay Co-op. Dairy Co., Ltd., Toorooka, N.S.W.

Wilson, J., c/o. Norco Co-op., Ltd. (Kyogle), P.O. Box 73, Byron Bay, N.S.W.

Wilson, K., c/o. Warwick Co-op. Dairy Assoc., Ltd., Warwick, Q'ld.

Wingham Rural Co-op. Society, Ltd., Wingham, N.S.W.

Co-op. Dairy Co., Ltd., Bomaderry, YOUNGER, R., c/o. Macleay River Co-op. Dairy-N.S.W. ing Co., Ltd., Kempsey, N.S.W.

Section 12—JUNIOR FARMERS

NON-COMPETITIVE DISPLAY

ELIMINATION OF COMPETITIVE CLASSES

On the recommendation of the Junior Farmers' Club Council of N.S.W., the Junior Farmers' Competitive Classes have been replaced by a combined non-competitive display to which all the District Junior Farmers' Clubs have been invited to contribute. In lieu of the prize money and organising expenses formerly contributed, THE RURAL BANK OF NEW SOUTH WALES, Martin Place, Sydney, has donated £100 towards the organising expenses and the non-competitive display.

